
1/11

A 8x40 x23

B 6,3x80 x14

C M6x80 x12

D M6x10x13 x12

E 7x70 x6

F D9,8/60/5,8 x8

G D15x19 x8

H M10x12 x8

45 min

J 3,5x40 x6

K D4x13 x6

L D8x13 x57

M D15x18 x26

N D13 x5

P D20 x16

Q 38x3 x4

R 4mm x1

Page 2-9
Step 1-12

Page 2
Step 1

Page 4-9
Step 5-12

1

3

4

5 14

6

9

9

10

10

11

12

13

11

8

8
7

2

Page 10-11
Step 2a-4a



2/11

4mm

A 8x40 x21

1

2

B 6,3x80 x4

M D15x18 x4

Q 38x3 x2

2x765
13

2x9

2xA
2xA

2xA
2xA

A

A

A

A

A

A

A

9

Q

B+M

4

2
B+M

B+M

B+M



3/11

9

B+M

Q1

Q3

B+M

B+M

B+M

B 6,3x80 x4

M D15x18 x4

Q 38x3 x2

3

4

C M6x80 x4

D M6x10x13 x4

B 6,3x80 x4

M D15x18 x8

7

6

C+M

B+M

5

1

2

C+M

C+M

C+M

B+M

B+M
B+M

D

D

D

D

4mm

4mm



4/11

F

F

F

F

GH 8

88

8

G

G G
H

H

H

F D9,8/60/5,8 x4

5

6

G D15x19 x4

H M10x12 x4

4mm

4mm

8

1. 2.3.

F



5/11

F
11

G D15x19 x4

H M10x12 x4

7

4x
F D9,8/60/5,8 x4

8

A 8x40 x2

2.

11

1111

11

G
H

H
G

H
G

4mm

4mm

1.

A

GH

1.
2.

3.



6/11

10

10

12

2xE2xK

2xD

2xD

2xD
2xC

2xC

2xC

2xM
2xM

2xM

4mm

C M6x80 x8

D M6x10x13 x8

9

E 7x70 x4

K D4x13 x4

M D15x18 x8

2xE
2xK

2xC2xM 2xD



7/11

B 6,3x80 x2

E 7x70 x2

10

K D4x13 x2

M D15x18 x2

4mm

B+M

13

L

E+K2.

B+M

1.



8/11

J 3,5x40 x6

11

14

6xJ

L



9/11

3xP

N

3xP

3xP

3xP

P

P

P 20xL

15xL

11xL

11xL

L

13

12

L D8x13 x57

N D13 x1

P D20 x16

N D13 x4

P

N

N

N

N
L



10/11

B 6,3x80 x4

M D15x18 x4

Q 38x3 x2

2a

B 6,3x80 x4

M D15x18 x4

Q 38x3 x2

4mm

4mm

9

Q

B+M

4

2

B+M

B+M

B+M

9

B+M

Q
1

Q

3

B+M

B+M

B+M

3a



11/11

7

6

C+M

B+M

5

1

2

C+M

C+M

C+M

B+M

B+M
B+M

D

D

D

4mm

C M6x80 x4

D M6x10x13 x4

B 6,3x80 x4

M D15x18 x8

4a

D


	A: 
	C: 
	F: 
	F_2: 
	A_2: 
	undefined: 
	J: 
	N: 
	C_2: 
	Text1: Batch nr:
	Text1jnööhtj: LH0628-06


